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2. Quasi-contour model

The forward Euler scheme can be formally written{
t`+1 = t` + δt` ,

N(`+1) = N(`) +
δt`
2t`
Q(N(`))−1P (N(`)) ,

` ∈ N .

• IsQ(N) singular ?

• Behavior of quasi-contours for some values ofm andσ.
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m = 2, σ = (2/5, 4/5).

Domain of computation

−
π

2
< N1 <

π

2
,

0 < N2 < N1 + π .
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m = 3, σ = (2/7, 4/7, 6/7).

Domain of computation



−π
2
< N1 <

π

2
,

N1 − π < N2 < N1 + π ,

N3 − π < N2 < N3 + π ,

0 < N3 < 2π .
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m = 2, σ = (2/5, 4/5).
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m = 2, σ = (2/5, 4/5).
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m = 3, σ = (2/7, 4/7, 6/7).
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m = 2, σ = (2/5, 4/5).
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m = 3, σ = (2/7, 4/7, 6/7).
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m = 4, σ = (2/9, 4/9, 6/9, 8/9).
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m = 5, σ = (2/11, 4/11, 6/11, 7/11, 9/11).
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